
 

  P. T. O.  

Roll No. ...................................  

DD–120 

M. Com. (Fourth Semester) 

EXAMINATION, 2020 

(Optional-Specialization) 

[Optional Group (B) : Management] 

Paper First 

FINANCIAL MANAGEMENT 

Time : Three Hours 

Maximum Marks : 80 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u 

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- foŸkh; fu;kstu D;k gS \ blds egRo ,oa lhekvksa dks crkb,A 

os dkSu&ls fofHkUu ?kVd gSa] ftudk foŸkh; fu;kstu esa /;ku 

j[kuk pkfg, \ 

What is Financial Planning ? Write its importance and 

limitations. What are various factors that a financial plan 

must consider ? 
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vFkok 

(Or) 

fot; fy- ,d e’khu [kjhnus dk fopkj dj jgh gSA  

` 1,20,000 izR;sd dh ykxr ij nks e’khusa A rFkk B miyC/k 

gSaA dj ds ckn ijUrq kl ls iwoZ laHkkfor vk; fuEuor~ gS % 

o”kZ 
e’khu A  

(`) 

e’khu B  

(`) 

1 50,000 30,000 

2 40,000 30,000 

3 30,000 50,000 

4 20,000 40,000 

5 20,000 40,000 

fuEufyf[kr dk iz;ksx djrs gq, nksuksa fodYiksa dk ewY;kadu 

dhft, %  

¼v½ is&cSd vof/k jhfr  

¼c½ is&cSd ds ckn dh ykHknk;d jhfrA 

Vijay Ltd. is considering to purchase a machine. Two 

machines A and B are available at the cost of ` 1,20,000 

each. Earning after tax but before depreciation are likely 

to be ahead : 

Year 
Machine A 

(`) 

Machine B 

(`) 

1 50,000 30,000 

2 40,000 30,000 

3 30,000 50,000 

4 20,000 40,000 

5 20,000 40,000 
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Evaluate two alternatives by using : 

(a) Payback period method  

(b) Post-payback profitability method  

bdkbZ&2 

(UNIT—2) 

2- iw¡th dh ykxr ls lacaf/kr lS)kfUrd fopkj/kkjk dh foospuk 

dhft,A bl fopkj/kkjk dh fuEufyf[kr n’kkvksa esa D;k 

mi;ksfxrk gksxh \ 

(i) daiuh ds iw¡th <k¡ps ds fuekZ.k esa  

(ii) foŸkh; lk/kuksa ds vkcaVu esa  

Examine critically the conceptual framework relating to 

cost of capital. How far is this approach relevant  

(i) in designing of corporate capital structure ? 

(ii) in the allocation of financial resources ? 

vFkok 

(Or) 

lksukyh fy- us izR;sd ` 100 okys 4000; 9 izfr’kr iwokZf/kdkj 

va’k fuxZfer fd, vkSj fuEufyf[kr O;; lgu fd, % 

vf/kxksiu deh’ku 2 izfr’kr] nykyh 1 izfr’kr vkSj vU; O;; 

` 3,000 

;g ekurs gq, fd iwokZf/kdkj va’kka s dks (i) leewY; ij] (ii) 7 

izfr’kr cês ij] (iii) 9 izfr’k izhfe;e ij fuxZfer fd;k tkrk 

gS] iw¡th dh ykxr ¼dj ls iwoZ½ dh x.kuk dhft,A dj dh nj 

40 izfr’kr gSA  
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Sonali Ltd. has issued 9%, 4000 preference shares of 

` 100 each and has incurred the following expenses : 

Underwriting commission 2%, brokerage 1% and other 

expenses ` 3,000. 

Calculate cost of capital (before tax) assuming the 

preference shares is issued at (i) par, (ii) 7% discount, 

(iii) 9% premium. The tax rate is 40%. 

bdkbZ&3 

(UNIT—3) 

3- foŸkh; yhojst D;k gS \ foŸkh; yhojst ifjpkyu yhojst ls 

fdl rjg lEcfU/kr gS \ mnkgj.k lfgr O;k[;k dhft,A  

What is Financial Leverage ? In what way financial 

leverage is related to operating leverage ? Explain with 

example.  

vFkok 

(Or) 

fuEufyf[kr iwokZuqeku X rFkk Y daifu;ksa ls lEcfU/kr gSa % 

 X Y 

mRiknu rFkk fcØh ¼bdkbZ½  80,000  1,00,000 

ifjorZu’khy ykxr izfr bdkbZ ¼`½ 4 3 

fLFkj ykxr ¼`½  2,40,000  2,50,000 

_.k iw¡th ij C;kt ¼`½  1,20,000  50,000 

foØ; ewY; izfr bdkbZ 10 8 
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mDr leadksa ds vk/kkj ij (i) ifjpkyd yhojst] (ii) foŸkh; 

yhojst] (iii) la;qDr yhojst  dh x.kuk dhft,A  

The following projections are related to companies  

X and Y : 

 X Y 

Output and Sales (units)  80,000  1,00,000 

Variable cost per unit (`) 4 3 

Fixed cost (`)  2,40,000  2,50,000 

Interest burden on debt (`)  1,20,000  50,000 

Selling price per unit  10 8 

On the basis of above data compute (i) Operating 

Leverage, (ii) Financial Leverage, (iii) Combined 

Leverage. 

bdkbZ&4 

(UNIT—4) 

4- ykHkka’k uhfr dh O;k[;k dhft,A ,d lqfLFkj ykHkka’k uhfr ds 

vko’;d rRoksa dk vkykspukRed ijh{k.k dhft,A  

Explain the meaning of Dividend Policy. Critically 

examine the essentials of a sound dividend policy.   

vFkok 

(Or) 

vkj- fy- vkSj ,l- fy- nks daifu;k¡ ,d gh izdkj ds O;olk; esa 

yxh gSa vkSj nksuksa eas ` 2,50,000 dh iw¡th fofu;ksftr gSA 

vkj- fy- us viuh iw¡th ` 1,00,000 lerk va’kksa ¼` 10 okys½ ds 
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:i esa rFkk ` 1,50,000, 6% _.ki=ksa ¼` 100 okys½ ds :i esa 

izkIr dh gSA ,l- fy- us viuh leLr iw¡th ` 10 okys lerk 

va’kksa ds :i esa izkIr dh gSA  

vkj- fy- }kjk viuk;h xbZ lerk ij O;kikj uhfr dh leh{kk 

dhft,] ;fn C;kt o dj dkVus ls iwoZ nksuksa daifu;ksa dk ykHk 

` 50,000 gSA dj nj 5% eku yhft,A 

There are two companies R Ltd. and S Ltd. engaged in the 

same line of business and both have invested capital of 

` 2,50,000 each. R Ltd. has raised its capital ` 1,00,000 

from equity shares of ` 10 each and ` 1,50,000 from 6% 

debentures of a ` 100 each. S Ltd. has raised its whole 

capital from equity shares of ` 10 each.  

Comment upon the policy of trading on equity followed 

by R Ltd. if earnings before interest and tax is ` 50,000 

each in both the companies. Tax rate may be assumed to 

be 5%. 

bdkbZ&5 

(UNIT—5) 

5- jksdM+ izcU/k ds vFkZ dh Li”V O;k[;k dhft,A jksdM+ izca/k ds 

fofHkUu pj.kksa dks lfoLrkj le>kb,A  

Explain clearly the meaning of ‘Cash Management’. 

Explain in detail the various steps of cash management.  

vFkok 

(Or) 

,d daiuh dh iw¡th lajpuk esa fuEufyf[kr ‘kkfey gS % 

10% iwokZf/kdkj va’k ¼` 10 izfr va’k½ ` 1,00,000 

lerk va’k iw¡th ¼` 10 izfr va’k½ ` 1,00,000 
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ifjpkyu ykHk ` 60,000 gS vkSj daiuh 50% dh dj lhek esa 

gSA foŸkh; izHkko’khyrk dh x.kuk dhft,A ;fn ifjpkyu 

ykHk c<+dj ` 90,000 gks tk,] rks ubZ foŸkh; izHkko’khyrk D;k 

gksxh \ 

The capital structure of a company consists of the 

following : 

10% preference shares of ` 10 each ` 1,00,000 

Equity share capital (` 10 each) ` 1,00,000 

The operating profit is ` 60,000. The company is in 50% 

tax bracket. Calculate financial leverage. What would be 

new financial leverage if operating profit increases to  

` 90,000 ? 
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